ORIGINAL PAPER

INVESTIGATION OF SOME RESULTS ARISING FROM POST QUANTUM CALCULUS

GHAZALA GULSHAN¹, RASHIDA HUSSAIN¹, ASGHAR ALI^{1*}

Manuscript received: 27.03.2020; Accepted paper: 27.06.2020; Published online: 30.09.2020.

Abstract. This article is pedestal for the (p,q)-calculus connecting two concepts of (p,q)-derivatives and (p,q)-integrals. The purpose of this paper is to establish different type of identities for (p,q)-calculus. Some special cases of the (p,q)-midpoint, Simpson, Averaged midpoint trapezoid, and trapezoid type integral identities are also derived.

Keywords: (p,q)-derivative; (p,q)-integrals; (p,q)-Hermit–Hadamard's inequality; (p,q)-midpoint type inequality.

1. INTRODUCTION

In mathematics, the investigation of calculus with no limits is known in the literature as quantum calculus (also called q-calculus). The famous mathematician Euler instituted the study of q-calculus in the eighteenth century by proposing the parameter q in Newton's work of infinite series. In early twentieth century, Jackson [1] has started a symmetric study of qcalculus and developed q-definite integrals. Quantum calculus has huge applications in many mathematical areas. These new quantum assessments for Hermite Hadamard type inequalities have potential applications in the fields of integral inequalities, approximation theory, special means theory, optimization theory, information theory, number theory, orthogonal theory of relativity and numerical analysis.

Quantum calculus has received exceptional interest by many researchers and hence it appears as a connection between mathematics and physics. Interested readers are referred to [2-4] for some current advances in the theory of quantum calculus and theory of inequalities. Recently, Tunç and Göv [5-7] studied the concept of the (p,q)-calculus over the intervals of [a, b] $\subset \mathbb{R}$. The the (p,q) derivative and the (p,q) integral were explain and some basic properties are given. Furthermore, they obtained some new result for the the (p,q)-calculus of several important integral inequalities. Currently, the (p,q)-calculus is being investigated extensively by many researchers, and a variety of new results can be found in the literature [8-13] and the references cited therein.

In 1893, Hadamard [14] explored one of the fundamental inequalities as:

$$f(\frac{a+b}{2}) \le \frac{1}{b-a} \int_{a}^{b} f(x) dx \le \frac{f(a)+f(b)}{2}$$
(1.1)

¹ Mirpur University of Science and Technology (MUST), 10250 Mirpur, Pakistan.

E-mail: <u>ghazala.maths@must.edu.pk;</u> <u>drrashida@must.edu.pk</u>.

^{*} Corresponding author: <u>drali@must.edu.pk</u>.

In 2014, Tariboon and Ntouyas [15] investigated the extension to q-calculus on the finite interval of (1), which is called the q-Hermite–Hadamard inequality, and some important inequalities:

$$f(\frac{qa+b}{1+q}) \le \frac{1}{b-a} \int_a^b f(x) dx \le \frac{qf(a)+f(b)}{1+q}$$

In 2018, Alp et al [16] proved the (p, q) Hermite –Hadamard inequality,

$$f\left(\frac{qa+pb}{p+q}\right) \le \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x)dx \le \frac{qf(a)+pf(b)}{p+q}$$

2. PRELIMINARIES AND AUXILIARY RESULTS

In this section, we recall some previously known concepts and basic results. Throughout this section, we soppose $f = [a, b] \subset \mathbb{R}$ be an interval and q be a constant with, $0 < q < p \le 1$. The definations for (p, q)- derivative and (p, q)- integral were given in [5-6].

Definition 2.1. Let $f : [a; b] \to \mathbb{R}$ be a continuous function, and let $x \in [a, b]$. Then, the (p, q)-derivative of f on [a, b] at x is characterized by the expression

aDp, q f (t) =
$$\frac{f(pt+(1-p)a)-f(qt+(1-q)a)}{(p-q)(t-a)}$$
 t \neq a. (2.1)
aDp, q f (a) = $\lim_{t \to a} aD_{p,q}f$ (t) .

Obviously, a function f is said to be (p,q)--differentiable on [a,b], if aDp, qf(t) exists for all $t \in [a,b]$.

If a = 0 in (2.1), then 0Dp, qf(t) = Dp, qf(t) is familiar (p, q) derivative of f at t $\in [a,b]$ defined by the expression

Dp, q
$$f(t) = \frac{f(pt) - f(qt)}{(p-q)t}$$
 $t \neq 0$ (2.2)

Furthermore, if p = 1 in (2.2), then it reduces to Dq f(x), which is the q -derivative of the function

$$D_q f(t) = \frac{f(t) - f(qt)}{(1 - q)t}$$
, $t \neq 0$ (2.3)

Definition 2.2. Let $f : [a; b] \to \mathbb{R}$ be a continuous function. The definite (p, q) integral on [a, b] is defined as:

$$\int_{a}^{t} f(\mathbf{x})_{a} d_{(p,q)} \mathbf{x} = (p-q)(t-a) \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} f\left\{\frac{q^{n}}{p^{n+1}}t + \left(1 - \frac{q^{n}}{p^{n+1}}\right)a\right\}$$
(2.4)

for $t \in [a, b]$. If $c \in (a, t)$, then the (p, q)- definite integral on [c, t] is expressed as:

www.josa.ro

$$\int_{c}^{t} f(x) \operatorname{ad}(\mathbf{p}, \mathbf{q}) \mathbf{x} = \int_{a}^{t} f(x) \operatorname{ad}(\mathbf{p}, \mathbf{q}) \mathbf{x} - \int_{a}^{c} f(x) \operatorname{ad}(\mathbf{p}, \mathbf{q}) \mathbf{x}$$
(2.5)

If p = 1 in (2.4), then one can get the classical *q*-definite integral on [a, b] defined by

$$\int_{a}^{t} f(\mathbf{x})_{a} d_{(1,q)} x = (1-q)(t-a) \sum_{n=0}^{\infty} q^{n} f\{q^{n} t + (1-q^{n})a\}$$
(2.6.)

If a = 0 in (2.4), then one can get the classical (p, q)-definite integral defined by

$$\int_0^t f(\mathbf{x})_0 \, d_{(p,q)} \mathbf{x} = (p-q) t \sum_{n=0}^\infty \frac{q^n}{p^{n+1}} f\left(\frac{q^n}{p^{n+1}}t\right).$$

The proofs of the following lemmas were given in [17].

Lemma 2.1 Let $f: I \to \mathbb{R}$ be a continuous and q-differentiable function on I^0 with 0 < q < 1. Thus the identity

$$\lambda[\mu f(b) + (1 - \mu)f(a)] + (1 - \lambda)f(\mu b + (1 - \mu)a) - \left(\frac{1}{b - a}\right) \int_{a}^{b} f(x)_{a} d_{q}x$$

= $(b - a) \left[\left\{ \int_{0}^{\mu} (qt + \lambda\mu - \lambda)aD_{q}f(tb + (1 - t)a)_{0}d_{q}t \right\} + \left\{ \int_{\mu}^{1} (qt + \lambda\mu - 1)aD_{q}f(tb + (1 - t)a)_{0}d_{q}t \right\} \right]$

holds for all $\lambda, \mu \in [0,1]$, if aDq *f* is integrable on *I*.

Lemma 2.2. Let $\mu \in [0, 1]$ and $\Im \in [0, \infty)$

$$\int_0^{\mu} t^{\mathsf{J}} d_q t = (1-q) \sum_{n=0}^{\infty} \mu^{\mathsf{J}+1} q^{(\mathsf{J}+1)n} = \frac{\mu^{\mathsf{J}+1}(1-q)}{1-q^{\mathsf{J}+1}}$$

Lemma 2.3. Let $\lambda, \mu \in [0,1]$ and $\tau \in [0,\infty)$. Then we have

$$\begin{split} & \int_{0}^{\mu} t^{\tau} |qt - (\lambda - \lambda\mu)|_{0} d_{q}t = \\ \begin{cases} \frac{\mu^{J+1}(1-q)(\lambda - \lambda\mu)}{1 - q^{\tau+1}} - \frac{\mu^{J+2}q(1-q)}{1 - q^{\tau+2}} & \lambda\mu + q \leq \lambda \\ \frac{2(1-q)^{2}(\lambda - \lambda\mu)^{J+2}}{(1-q^{J+1})(1-q^{J+2})} + \frac{\mu^{J+2}q(1-q)}{1 - q^{J+2}} - \frac{\mu^{J+1}(1-q)(\lambda - \lambda\mu)}{1 - q^{J+1}} & \lambda\mu + q > \lambda \end{split}$$

$$\begin{cases} (1-q)\sum_{n=0}^{\infty}q^{n}(\lambda-\lambda\mu-q^{n+1})(1-q^{n})^{\tau}, & \lambda\mu+q \leq \lambda\\ (2(1-q)(\lambda-\lambda\mu)^{2}\sum_{n=0}^{\infty}q^{n}(1-q^{n})[1-q^{n-1}(\lambda-\lambda\mu)]^{\tau}\\ -(1-q)\sum_{n=0}^{\infty}q^{n}(\lambda-\lambda\mu-q^{n+1})(1-q^{n})^{\tau}, & \lambda\mu+q > \lambda \end{cases}$$

Lemma 2.4. Let $\lambda \in [0,1]$ and $\tau \in [0,\infty)$. Then we have

$$\begin{split} & \int_{0}^{1} t^{\tau} |qt - (1 - \lambda\mu)|_{0} d_{q}t = \\ \begin{cases} \frac{(1-q)(1-\lambda\mu)}{1-q^{\tau+1}} - \frac{q(1-q)}{1-q^{\tau+2}} & \lambda\mu + q \leq 1, \\ \frac{2(1-q)^{2}(1-\lambda\mu)^{j+2}}{(1-q^{j+1})(1-q^{j+2})} + \frac{q(1-q)}{1-q^{j+2}} - \frac{(1-q)(1-\lambda\mu)}{1-q^{j+1}} & \lambda\mu + q > 1 \end{cases} \\ \begin{cases} (1-q)\sum_{n=0}^{\infty} q^{n} (1 - \lambda\mu - q^{n+1})(1-q^{n})^{\tau}, \ \lambda\mu + q \leq 1 \\ & \begin{pmatrix} 2(1-q)(1-\lambda\mu)^{2}\sum_{n=0}^{\infty} q^{n}(1-q^{n})[1-q^{n-1}(1-\lambda\mu)]^{\tau} \\ -(1-q)\sum_{n=0}^{\infty} q^{n}(1-\lambda\mu - q^{n+1})(1-q^{n})^{\tau}, \ \lambda\mu + q \leq 1 \end{cases} \end{split}$$

Lemma 2.5. Let $\lambda, \mu \in [0,1]$ and $\theta \in [0,\infty)$. Then we have

$$\begin{split} & \int_{0}^{1} |qt - (1 - \lambda\mu)|^{\theta} d_{q}t = \\ & \left\{ \begin{array}{c} (1 - q) \sum_{n=0}^{\infty} q^{n} \left(1 - \lambda\mu - q^{n+1}\mu\right)^{\theta}, & 0 \leq \lambda\mu \leq 1 - q, \\ (1 - q) \left((1 - \lambda\mu)^{\theta + 1} \sum_{n=0}^{\infty} q^{n-1} (1 - q^{n})^{\theta} + \sum_{n=0}^{\infty} q^{n} (q^{n+1} - 1 + \lambda\mu)^{\theta} \\ - (1 - \lambda\mu)^{\theta + 1} \sum_{n=0}^{\infty} q^{n-1} (q^{n} - 1)^{\theta}, & (1 - q) < \lambda\mu \leq 1 \end{array} \right\} \end{split}$$

3. RESULTS AND DISCUSSION

In this section, we introduce some new post quantum -integral identites and post quantum estimates for midpoint, Simpson, averaged midpoint-trapezoid, and trapezoid -type integral identites.

Lemma 3.1. Let $f: I \rightarrow \mathbb{R}$ be a continuous and differentiable function on I with $0 < q < p \le 1$. Then the identity

$$\lambda \left[\int_{0}^{\mu} \mu f(b) + (1-\mu)f(a) \right] + (1-\lambda)f(\mu b + (1-\mu)a) - \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x) ad_{p,q} x$$

$$= (b-a) \int_{0}^{\mu} (qt + \lambda\mu - \lambda)_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t + \int_{\mu}^{1} (qt + \lambda\mu - 1)_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t + (1-t)a)_{0} d_{p,q} t$$

Holds for all $\lambda, \mu \in [0,1]$, *if* aDp, q*f is intergrable on I*.

Proof: Using of identity transformation, we attain

$$(b-a) \int_{0}^{\mu} (qt + \lambda\mu - \lambda)_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t + \int_{\mu}^{1} (qt + \lambda\mu - 1)_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t + (1-t)a)_{0} d_{p,q} t = (b-a) \left\{ \int_{0}^{1} (qt + \lambda\mu - 1)_{a} D_{p,q} f(tb + (1-t)a) d_{p,q} t + \int_{0}^{\mu} (1-\lambda)_{a} D_{p,q} f(tb + (1-t)a) d_{p,q} t + \int_{0}^{\mu} (1-\lambda)_{a} D_{p,q} f(tb + (1-t)a) d_{p,q} t \right\}$$

$$(3.1)$$

From definition 2.1, we get

aDp, qf(tb + (1 - t)a) =
$$\frac{f(ptb + (1 - pt)a) - f[q(tb + (1 - t)a)] + (1 - q)a}{(p - q)(tb + (1 - t)a - a)}$$
$$= \frac{f(ptb + (1 - pt)a) - f[qtb + (1 - qt)a]}{t(p - q)(b - a)}$$

Make use of the above calculation and Definiation 2.2, we have

$$\int_{0}^{1} tD_{p,q}f(tb+(1-t)a)_{a} d_{p,q}t = \int_{0}^{1} \frac{f(ptb+(1-pt)a) - f(qtb+(1-qt)a)}{(p-q)(b-a)} ad_{p,q}t.$$

$$= \frac{1}{b-a} \Big[\sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} f(\frac{q^{n}}{p^{n}} + \left(1 - \frac{q^{n}}{p^{n}}\right)a) - \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} f\left(\frac{q^{n+1}b}{p^{n+1}} + \left(1 - \frac{q^{n+1}}{p^{n+1}}\right)a\right) \Big]$$

$$= \frac{1}{b-a} \Big\{ \frac{1}{q} f(b) - \left(\frac{1}{q} - \frac{1}{p}\right) \sum_{n=1}^{\infty} \frac{q^{n}}{p^{n+1}} f\left(\frac{q^{n}b}{p^{n}} + \left(1 - \frac{q^{n}}{p^{n}}\right)a\right) \Big\}$$

$$= \frac{1}{b-a} \Big\{ \frac{1}{q} f(b) - \left(\frac{p-q}{qp}\right) \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} f\left(\frac{q^{n}b}{p^{n}} + \left(1 - \frac{q^{n}}{p^{n}}\right)a\right) \Big\}$$

$$= \frac{f(b)}{q(b-a)} - \frac{1}{qp(b-a)^{2}} \int_{a}^{pb+(1-p)a} f(x)_{a} d_{p,q} x \qquad (3.2)$$

$$= \int_{0}^{1} D_{p,q} f(tb+(1-t)a)_{a} d_{p,q} t$$

$$= \int_{0}^{1} \frac{f(ptb+(1-pt)a) - f[qtb+(1-qt)a+(1-q)a]}{t(p-q)(b-a)} d_{p,q} t,$$

$$= \frac{1}{b-a} \Big\{ \sum_{n=0}^{\infty} f\left(\frac{q^{n}}{p^{n}}b + \left(1 - \frac{q^{n}}{p^{n}}\right)a\right) - \sum_{n=0}^{\infty} f\left(\frac{q^{n+1}}{p^{n+1}}b + \left(1 - \frac{q^{n+1}}{p^{n+1}}\right)a\right) \Big\}$$

$$= \frac{f(b)-f(a)}{b-a}.$$
(3.3)

and

$$\int_{0}^{\mu} D_{p,q} f(tb + (1-t)a)_{a} d_{p,q} t = \int_{0}^{\mu} \frac{f(ptb + (1-pt)a) - f(qtb + (1-qt)a)}{t(p-q)(b-a)} d_{p,q} t$$
$$= \frac{1}{b-a} \left\{ \sum_{n=0}^{\infty} f(\frac{q^{n}p}{p^{n+1}}\mu b + \left(1 - \frac{q^{n}p}{p^{n+1}}\mu\right)a\right) - \sum_{n=0}^{\infty} f(\frac{q^{n+1}}{p^{n+1}}\mu b + \left(1 - \frac{q^{n+1}}{p^{n+1}}\mu\right)a\right) \right\}.$$
$$= \frac{f(\mu b + (1-\mu)a) - f(a)}{b-a}.$$
(3.4)

Substituting (3.2), (3.3) and (3.4) into (3.1), we get the desired result.

Remark 3.2: In Lemma 3.1, if we take take p = 1, then we recapture Lemma 2.1.

Remark 3.3: Consider lemma 3.1.

(i) Putting $\mu = 0$, we have

$$f(a) - \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x)_a d_{p,q} x = (b-a) \int_{0}^{1} (qt-1)_a D_{p,q} f(tb+(1-t)a)_0 d_{p,q} t.$$

(ii) Putting
$$\mu = 1$$
, we have

$$f(\mathbf{b}) - \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x)_a \, d_{p,q} x = (b-a) \int_{0}^{1} qt_a D_{p,q} \, f(tb+(1-t)a)_0 d_{p,q} t.$$

(iii) Putting $\mu = \frac{p}{p+q}$

$$\begin{split} \lambda \frac{Pf(b) + qf(a)}{p + q} + (1 - \lambda)f\left(\frac{pb + qa}{p + q}\right) - \frac{1}{p(b - a)} \int_{a}^{pb + (1 - p)a} f(x)_{0} d_{p,q} x \\ = (b - a) \left\{ \int_{0}^{\frac{p}{p + q}} \left(qt - \frac{\lambda q}{p + q}\right) D_{p,q} f(tb + (1 - t)a)_{0} d_{p,q} t + \int_{\frac{p}{p + q}}^{1} \left(qt - \frac{\lambda q}{p + q} - 1\right) D_{p,q} f(tb + (1 - t)a)_{0} d_{p,q} t \\ + (1 - t)a)_{0} d_{p,q} t \right\} \end{split}$$

566

Remark 3.4. Consider Lemma 3.1.:

(i) Putting λ =0, we get

$$f(\mu b + (1 - \mu)a) - \frac{1}{b - a} \int_{a}^{pb + (1 - p)a} f(x)_{a} d_{p,q} x = (b - a)$$

$$\left\{ \int_{0}^{\mu} qt_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{p,q} t + \int_{\mu}^{1} qt_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{p,q} t \right\}$$

Substituting $\mu = \frac{p}{p+q}$ (p,q)- midpoint –type intergral identity is obtained and previously proved in [16].

$$f\left(\frac{pb+qa}{p+q}\right) - \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x)_{a} d_{p,q} x$$
$$= \left\{ \int_{0}^{\frac{p}{p+q}} qt_{a} D_{p,q} f(tb+(1-t)a)_{0} d_{q} t + \int_{\frac{p}{p+q}}^{1} (qt-1) D_{p,q} f(tb+(1-t)a)_{0} d_{p,q} t \right\}$$

(ii) Putting
$$\lambda = \frac{1}{3}$$
, we get

$$\frac{1}{3} [\mu f(b) + (1 - \mu) f(a)) + 2f(\mu b) + (1 - \mu)a)] - \frac{1}{p(b - a)} \int_{a}^{pb + (1 - p)a} f(x)_{a} d_{p,q} x$$

$$= (b - a) \left\{ \int_{0}^{\mu} \left(qt + \frac{1}{3}\mu - \frac{1}{3} \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + (1 - t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{p,q} f(tb + 1) d_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{3}\mu - 1 \right)_{a} D_{q} d_{q} t +$$

Specially taking $\mu = \frac{p}{p+q}$, we obtain the simpson-type integral identity.

$$\begin{aligned} \frac{1}{3} \left[\frac{qf(a) + pf(b)}{p+q} + 2f\left(\frac{pb+qa}{p+q}\right) \right] &- \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x)_{a} \, d_{p,q} x = \\ &= (b-a) \left\{ \int_{0}^{\frac{p}{p+q}} \left(qt + \frac{q}{3(p+q)})_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t \right. \\ &+ \left. \int_{\frac{p}{p+q}}^{1} \left(qt + \frac{p}{3(p+q)} - 1)_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t \right\} \end{aligned}$$

(iii) Putting $\lambda = \frac{1}{2}$, we get

$$\begin{aligned} &\frac{1}{2} \left[\mu f(\mathbf{b}) + (1-\mu)f(a) \right) + f(\mu \mathbf{b}) + (1-\mu)a) \right] - \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x)_{a} d_{p,q} x \\ &= (b-a) \left\{ \int_{0}^{\mu} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - 1 \right)_{0} D_{p,q} f(tb + (1-t)a)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt + \frac{1}{2}\mu - \frac{1}{2} \right)_{0} d_{q} t + \int_{\mu}^{1} \left(qt$$

Specially taking $\mu = \frac{p}{p+q}$, we obtain the averaged midpoint-trapezoid-type integral identity.

$$\frac{1}{2} \left[\frac{qf(a) + pf(b)}{p+q} + f\left(\frac{pb+qa}{p+q}\right) \right] - \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x)_{a} d_{p,q} x$$
$$= (b-a) \left\{ \int_{0}^{\frac{p}{p+q}} \left(qt + \frac{q}{2(p+q)})_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t \right. \right.$$
$$\left. + \int_{\frac{p}{p+q}}^{1} \left(qt + \frac{p}{2(p+q)} - 1)_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t \right\}$$

(iv) Putting λ =1, we get

$$\mu f(b) + (1-\mu)f(a) - \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x)_{a} d_{p,q} x$$
$$= \int_{0}^{\mu} (qt + \mu - 1)_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t$$

Specially, taking $\mu = \frac{p}{p+q}$, we obtain the trapezoid-type integral identity

$$\frac{qf(a) + pf(b)}{p+q} - \frac{1}{p(b-a)} \int_{a}^{pb+(1-p)a} f(x)_{a} d_{p,q} x$$
$$= \int_{0}^{\frac{p}{p+q}} (qt + \frac{p}{p+q} - 1)_{a} D_{p,q} f(tb + (1-t)a)_{0} d_{p,q} t$$

To the best of our knowledge the above integral identites are fresh in the literature.

Lemma 3.5. Let $\mu \in [0,1]$ and $\exists \in [0,\infty)$. Then we have

$$\int_0^{\mu} t^{\mathsf{J}} d_{p,q} t = (p-q) \mu \sum_{n=0}^{\infty} \frac{q^n}{p^{n+1}} \left(\frac{q^n}{p^{n+1}} + 1 \right)^{\mathsf{J}} = \frac{(p-q) \mu^{\mathsf{J}+1}}{p^{\mathsf{J}+1} - q^{\mathsf{J}+1}}$$

and

$$\int_0^{\mu} (1-t)^{\mathbb{J}} d_{p,q} t = (p-q) \mu \sum_{n=0}^{\infty} \frac{q^n}{p^{n+1}} \left(1 - \frac{q^n}{p^{n+1}} \right)^{\mathbb{J}}$$

Lemma 3.6. Let $\lambda, \mu \in [0,1]$ and $\exists \in [0,\infty)$. Then we have

$$\int_{0}^{\mu} t^{\mathbb{I}} |qt - (\lambda - \lambda \mu)|_{0} d_{p,q} t = \begin{cases} \frac{\mu^{\mathbb{I}+1}(p-q)(\lambda - \lambda \mu)}{p^{\mathbb{I}+1} - q^{\mathbb{I}+1}} - \frac{q\mu^{\mathbb{I}+2}(p-q)}{p^{\mathbb{I}+2} - q^{\mathbb{I}+2}} & (\lambda + q)\mu \leq \lambda \\ \\ \frac{2(p-q)^{2}(\lambda - \lambda \mu)^{\mathcal{I}+2} \left[(p^{\mathbb{I}+1} + q^{\mathbb{I}+1}) - \frac{(1-q)p^{\mathbb{I}+1}}{(p-q)} \right]}{q^{\mathcal{I}+1}(p^{\mathbb{I}+1} - q^{\mathbb{I}+1})(p^{\mathbb{I}+2} - q^{\mathbb{I}+2})} + \frac{q\mu^{\mathbb{I}+2}(p-q)}{p^{\mathbb{I}+2} - q^{\mathbb{I}+2}} \\ - \frac{\mu^{\mathbb{I}+1}(p-q)(\lambda - \lambda \mu)}{p^{\mathbb{I}+1} - q^{\mathbb{I}+1}}. & (\lambda + q)\mu > \lambda \end{cases}$$

and

$$\begin{split} & \int_{0}^{\mu} (1-t)^{\tau} \left| qt - (\lambda - \lambda \mu) \right| \, d_{q}t = \\ & \left\{ \begin{array}{l} (p-q) \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(\lambda - \lambda \mu - \frac{q^{n+1}}{p^{n+1}} \right) \left(1 - \frac{q^{n}}{p^{n+1}} \right)^{\tau}, \quad \lambda \mu + q \leq \lambda \\ & \left\{ \begin{array}{l} \left(2(p-q)(\lambda - \lambda \mu)^{2} \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(1 - \frac{q^{n}}{p^{n+1}} \right) \left[1 - \frac{q^{n-1}}{p^{n+1}} (\lambda - \lambda \mu) \right]^{\tau} \\ - (p-q) \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(\lambda - \lambda \mu - \frac{q^{n+1}}{p^{n+1}} \right) \left(1 - \frac{q^{n}}{p^{n+1}} \right)^{\tau}, \quad \lambda \mu + q > \lambda \\ \end{array} \right\} \end{split}$$

Proof: When $(\lambda + q)\mu < \lambda$, by use of Lemma 3.5 we get

$$\int_{0}^{\mu} t^{\mathbb{I}} |qt - (\lambda - \lambda \mu)|_{0} d_{p,q} t = \int_{0}^{\mu} [t^{\mathbb{I}} (\lambda - \lambda \mu) - qt^{\mathbb{I} + 1}] d_{p,q} t = \frac{\mu^{\mathbb{I} + 1} (p - q)(\lambda - \lambda \mu)}{p^{\mathbb{I} + 1} - q^{\mathbb{I} + 1}} - \frac{q\mu^{\mathbb{I} + 2} (p - q)}{p^{\mathbb{I} + 2} - q^{\mathbb{I} + 2}}$$

When $(\lambda + q)\mu > \lambda$, by use of Lemma 3.2 we get

$$\int_{0}^{\mu} t^{\jmath} |qt - (\lambda - \lambda\mu)|_{0} d_{q}t = \int_{0}^{\frac{\lambda - \lambda\mu}{q}} [(\lambda - \lambda\mu)t^{\jmath} - qt^{\jmath+1}] d_{p,q}t + \int_{\frac{\lambda - \lambda\mu}{q}}^{\mu} [qt^{\jmath+1} - (\lambda - \lambda\mu)t^{\jmath}] d_{p,q}t = 2\int_{0}^{\frac{\lambda - \lambda\mu}{q}} [(\lambda - \lambda\mu)t^{\jmath} - qt^{\jmath+1}] d_{p,q}t + \int_{0}^{\mu} [qt^{\jmath+1} - (\lambda - \lambda\mu)t^{\jmath}]_{0} d_{p,q}t = [I_{1} + I_{2}]$$
(3.5)

Considering that,

$$\begin{split} I_{1} &= 2 \int_{0}^{\frac{\lambda-\lambda\mu}{q}} [(\lambda-\lambda\mu)t^{\mathbb{J}} - qt^{\mathbb{I}+1}]_{o} d_{p,q}t \\ &= 2(p-q) \left(\frac{\lambda-\lambda\mu}{q}\right) (\lambda-\lambda\mu) \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(\frac{q^{n}}{p^{n+1}} \frac{\lambda-\lambda\mu}{q}\right)^{\mathbb{I}} \\ &- (p-q)q \left(\frac{\lambda-\lambda\mu}{q}\right) \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(\frac{q^{n}}{p^{n+1}} \frac{\lambda-\lambda\mu}{q}\right)^{\mathbb{I}+1} \\ &= \frac{2(p-q)(\lambda-\lambda\mu)^{\mathbb{I}+2}}{q^{\mathbb{I}+1}} \left[\left(\frac{1}{p}\right)^{\mathcal{I}+1} + \left(\frac{q}{p^{2}}\right)^{\mathcal{I}+1} + \left(\frac{q^{2}}{p^{3}}\right)^{\mathcal{I}+1} + \cdots \dots \right] \\ &- \frac{(p-q)(\lambda-\lambda\mu)^{\mathbb{I}+2}}{q^{\mathbb{I}+1}} \times \left(\frac{1}{p^{\mathbb{I}+2} - q^{\mathbb{I}+2}}\right) \\ &= \frac{2(p-q)^{2}(\lambda-\lambda\mu)^{\mathbb{I}+2} \times \left[p^{\mathbb{I}+1} + q^{\mathbb{I}+1} - (1-q) \frac{p^{\mathcal{I}+1}}{p-q} \right]}{q^{\mathcal{I}+1}(p^{\mathcal{I}+2} - q^{\mathbb{I}+2})(p^{\mathbb{I}+1} - q^{\mathbb{I}+1})} \\ &I_{2} &= \int_{0}^{\mu} t^{\mathcal{I}} |qt - (\lambda - \lambda\mu)|_{0} d_{q}t \\ &= (p-q)q\mu^{\mathcal{I}+2} \left(\frac{1}{p^{\mathcal{I}+2} - q^{\mathbb{I}+2}}\right) - \mu^{\mathcal{I}+1}(p-q)(\lambda - \lambda\mu) \left(\frac{1}{p^{\mathcal{I}+1} - q^{\mathbb{I}+1}}\right) \end{split}$$

Putting the values of I_1 and I_2 in eq (3.5) we get

$$= \begin{cases} (p-q)\mu \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(\lambda - \lambda\mu - \frac{q^{n+1}}{p^{n+1}}\mu\right) \left(1 - \frac{q^{n}}{p^{n+1}}\mu\right) \\ \begin{pmatrix} \left[2(p-q)(\lambda - \lambda\mu) \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(1 - \frac{q^{n}}{p^{n+1}}\right) \left[1 - \frac{q^{n}}{p^{n+1}} (\lambda - \lambda\mu)\right]^{j} \\ -(p-q)\mu \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(\lambda - \lambda\mu - \frac{q^{n+1}}{p^{n+1}}\mu\right) \left(1 - \frac{q^{n}}{p^{n+1}}\mu\right)^{j} \end{bmatrix} \end{pmatrix} \end{cases}$$

This completes the proof.

Remark 3.7. In Lemma 3.6, If we take p = 1, then we recapture Lemma 2.3.

The given results of Lemma 3.8 and 3.9 are described without proof.

Lemma 3.8 Let $\lambda, \mu \in [0,1]$ and $\tau \in [0,\infty)$. Then we have

$$\int_0^1 t^\tau \left| qt - (1-\lambda\mu) \right|_0 d_{p,q}t =$$

$$\begin{cases} \frac{\mu^{\tau+1}(p-q)(1-\lambda\mu)}{p^{\tau+1}-q^{\tau+1}} - \frac{q\mu^{\tau+2}(p-q)}{p^{\tau+2}-q^{\tau+2}} & (\lambda+q)\mu \leq 1, \\ \frac{2(p-q)^2(1-\lambda\mu)^{j+2}\left[\left(p^{j+1}+q^{j+1}\right) - \frac{(1-q)p^{j+1}}{(p-q)}\right]}{q^{\tau+1}(p^{\tau+1}-q^{j+1})(p^{\tau+2}-q^{j+2})} \\ + \frac{q\mu^{\tau+2}(p-q)}{p^{\tau+2}-q^{j+2}} - \frac{\mu^{\tau+1}(p-q)(1-\lambda\mu)}{p^{\tau+1}-q^{j+1}} & (\lambda+q)\mu > 1 \end{cases}$$

and

$$\begin{split} & \int_{0}^{1} (1-t)^{\tau} |qt - (1-\lambda\mu)|_{0} d_{p,q}t = \\ & \left(p-q \right) \mu \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(1 - \lambda\mu - \frac{q^{n+1}}{p^{n+1}} \mu \right) \left(1 - \frac{q^{n}}{p^{n+1}} \mu \right)^{\tau} (\lambda+q) \mu \leq 1 \\ & \left(2(p-q)(1-\lambda\mu)^{2} \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(1 - \frac{q^{n}}{p^{n+1}} \right) [1 - \frac{q^{n-1}}{p^{n+1}} (1-\lambda\mu)]^{\tau} \\ & -(p-q) \mu \sum_{n=0}^{\infty} q^{n} \left(1 - \lambda\mu - \frac{q^{n+1}}{p^{n+1}} \mu \right) \left(1 - \frac{q^{n}}{p^{n+1}} \mu \right)^{\tau}, \quad (\lambda+q) \mu > 1 \\ & \left(1 - \frac{q^{n}}{p^{n+1}} \mu \right)^{\tau} \right) \left(1 - \frac{q^{n}}{p^{n+1}} \mu \right)^{\tau} \right) (1 - \frac{q^{n}}{p^{n+1}} \mu) \left(1 - \frac{q^{n}}{p^{n+1}} \mu \right)^{\tau} \end{split}$$

Lemma 3.9. Let $\lambda, \mu \in [0,1]$ and $\theta \in [0,\infty)$. Then we have

$$\int_{0}^{1} |qt - (1 - \lambda\mu)|^{\theta} d_{p,q}t = \left(p - q \right) \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(1 - \lambda\mu - \frac{q^{n+1}}{p^{n+1}} \mu \right)^{\theta}, \qquad 0 \le \lambda\mu \le p - q,$$

$$\begin{cases} (p - q) \left((1 - \lambda\mu)^{\theta + 1} \sum_{n=0}^{\infty} \frac{q^{n-1}}{p^{n+1}} \left(1 - \frac{q^{n}}{p^{n+1}} \right)^{\theta} + \sum_{n=0}^{\infty} \frac{q^{n}}{p^{n+1}} \left(\frac{q^{n+1}}{p^{n+1}} - 1 + \lambda\mu \right)^{\theta} \right) \\ (p - q) \left((1 - \lambda\mu)^{\theta + 1} \sum_{n=0}^{\infty} \frac{q^{n-1}}{p^{n+1}} \left(\frac{q^{n}}{p^{n+1}} - 1 \right)^{\theta} \right) (p - q) < \lambda\mu \le 1 \end{cases}$$

4. CONCLUSION

Utilizing post quantum derivatives and post quantum integrals, we introduce some new post quantum integral identites. For different values of μ and λ , we obtain (p,q)-midpoint, Simpson, Averaged midpoint trapezoid, and trapezoid type integral identities. Current work has improved some results of [17] and can be reduced to the classical quantum identity formulas in special cases with p = 1. It is suggested that the ideas and technique may be applicable for (α, m) - convex functions.

REFERENCES

- [1] Jackson, F.H., Journal of Pure Applied Mathematics, **41**, 193, 1910.
- [2] Ernst, T., A Comprehensive Treatment of q-Calculus, Birkhauser, London, 2012.
- [3] Gauchman, H., Comput. Math. Appl., 47, 281, 2004.
- [4] Kac, V., Cheung, P., *Quantum calculus*, Springer, New York, 2001.
- [5] Tunç, M., Göv, E, Journal of RGMIA Res. Rep. Coll, 19(97), 1, 2016.
- [6] Tunç, M., Göv. E., Journal of RGMIA Res. Rep. Coll, 19(95), 1, 2016.
- [7] Tunç, M., Göv, E., Journal of RGMIA Res. Rep. Coll, 19 (98), 1, 2016.
- [8] Araci, S., Duran, U., Acikgoz, M., and Srivastava, M. H., *Journal of Inequal. Appl*, **301**, 2, 2016.
- [9] Duran, U., Acikgoz, M., Esi, A., Araci, S., Appl. Math. Inf. Sci, 12(1), 227, 2018.
- [10] Mursaleen, M., Ansari, J.K., Khan, A., Appl. Math. Comput, 264, 392, 2015.
- [11] Sahai, V., Yadav. S., J. Math. Anal. Appl., 335(1), 268, 2007.
- [12] Sadjang, N.P., *Results Math.*, **73**(39), 1, 2018.
- [13] Sadjang, P.N., arXiv: 1506.07394., 1, 2015.
- [14] Hadamard, J., Journal of Mathematiques Pures et Appliquees, 98, 171, 1893.
- [15] Alp, N., Sarikaya, Z.M., Kunt, M., Iscan, I., *Journal of King Saud University Science*, **30**, 193, 2018.
- [16] Alp, N., Sarikaya, Z.M., Kunt, M., Iscan, I., Journal of RACSAM, 112, 969, 2018.
- [17] Zhang, Y., Du, S.T., Wang, H., Shen, J.Y., *Journal of Inequalities and Applications*, **264**, 2, 2018.